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Q3b  Let S be the point dividing PQ into the ratio 3:1. 
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Q4a  Let ( )( )π−+−= − 1cos2 1 xy .  

The equation of ( )xf 1−  is ( )( )π−+−= − 1cos2 1 yx . 
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Domain is [ ]π2,0 , range is [ ]0,2− . 
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Implicit differentiation: 
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Q7b  Let 1−= xu . 
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Since u3cos  is an even function and u an odd function, the 

product is an odd function. 
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The particular solution is 1log5.0 += xy e . 

 

Q10c   

 

 
 

            Please inform mathline@itute.com re conceptual, 

            mathematical and/or typing errors 

 

Let ( )1sin −= xu , 

( )1cos −= x
dx

du
. 

When 0=x , 

( ) ( ) pu −=−=−= 1sin1sin . 

When 2=x , pu = . 

(-1, 1) 

(e, 1.5) 


